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THIRD SEMESTER
ELECTRICAL AND ELEC’TROI\}ICS ENGINEERING
EE 35 — ELECTRONiC DEVICES AND CIRCUITS

(R‘EGULATIONS‘ZOOS)

Time : Three hours Maximum : 100 marks

Answer ALL questions.
PART A — (10 x 2= 20 marks)
Define ripple factor and rectification efficiency.
State the épphcationsybf zener diode.

Which type of transistor configuration is very popular and
why?

What is an opto coupler?
Draw V-I characteristics of FET.

Why is quartz crystal commonly used in crystal oscillator?
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What are Barkhausen conditions and their sig:

List the factors that affects the frequency sta
oscillator.

How is the frequency of oscillation varied is
multi vibrator? N
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Give any two applications nﬁvSphh‘)itt trigger.
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PART B — (5 % 16 =80 inarks)
s X N

Draw the eircuit of a full-wave brid,
cireuit and explain its operation,

If the rectified output voltage is 250

" peak amplitude of the 100Hz ripple

T the rectified voktdge, what is -

A
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amplituda of the ripple after Ppassin
Nan L section filter made up of a 1
inductor and an 8 micro-farad capacit

Or

With the help of a block diagram ex
principle of operation of a series D(
regulator,

Draw the circuit diagram of a typic
voltage regulator.




[image: image3.png]12,

13.

14.

(@)

(®)

(a)

®)

(a)

(®)

@  Draw the tommon hage and comm
configurationg of g transistor and ex;
and outpyt charavtgristics.

(i) What js the effoct of Junction capag
the performgrice ofa transigtor?

@) What is meagnt by ;iénch:off voltage
effect ﬁénsistor? State, jts applicationg

(i) Sketch the ‘n{baracteristicg of a MOSF

: Give the sectional view of 3 Junction FET. b
Output voltampere characterigticy and discygs,
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Draw the transistor schmitt trigger cir
explain its operation.

Draw the circuit of a monostable mult
and derive expression for its pulse wid!

Or

Describe in brief the operation of a ¥
oscillator using UJT.

A UJT has o firing potential of 157
connected across a capacitor of a ¢
circuit with R = 500'kilo ohms, and C
Supplied by a source of 30 volts d.c.,
the time period of the. saw tof
generated.




